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vM = coin.coffee.VM
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Clock £ tick.Clock
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;E?RMIE(Choice Operator)
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VM = coin. (buttonl.coffee.VM + buton2.tea.VM)
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; Example

CM = coin.coffee.CM

cs £ ﬁb .coin.coffee.CS

}

cS | cM
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; Example

CM | Cs

® <

[ =

Cs|CcM|Cs’
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BETORAL
EER(S). ZERI(R). BIEFYRIL(C)

S|T

d
d tart.(ack.S+timeout.S’)

S
S’
T = startfimeout. T

C = datag.(datag.C+1.C) + ackg.(acks.C+1.C)

R = datag.ackg.receive.R
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p EBERFEHROH

Venl = c.(juice.getj.Venl + c.beer.getb.Venl)
Ven2 = c.juice.getj.Venl 4 c.c.beer.getb.Ven?2

c:100MZ AN D
Juice: D A—ADRE U EWY beer:(E—ILDRE U %#1T)
getj: P a—REBMYET geth: E—ILERY HT
Venl S plzBWTpARICTESHEEERIE
cé&juiced@EmA
ven2 5 qI2B VT A RIZTE HEEMEAIK
chjuicehd ELLMN—A
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BEEFaraNL
EEHI(S). ZERI(R). BEFVYRIL(C)

S =send.S’
S’ = datag.start.(ackg.stop.S+timeout.S’)

T = start.(timeout. T+stop.T)
C = datag.(datag.C+1.C) + ackg.(acks.C+1.C)

R = datag.ackg.receive.R
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p BB

BRIEBWRICE>THXZEM

S|TICIR =
send.S’ | start.(timeout. T+stop.T) |
datag.(dataz.C+1.C) + ackg.(acks.C+1.C) |
datag.ackg.receive.R
send :

— datag.start.(ackg.stop.S+timeout.S’) |
start.(timeout. T+stop.T) |
datag.(dafag.C+1.C) + ackg.(ackg.C+1.C) |
datar.ackg.receive.R (%A)
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p BB

T(datas) start.(ackg.stop.S+timeout.S’) |

start.(timeout. T+stop.T) |
datag.C+1.C | datag.ackg.receive.R
T(start) N . L —
— ackg.stop.S+timeout.S’ | timeout. T+stop. T |
datag.C+71.C | datag.ackg.receive.R

ZODEENHYSS (*%B)
T(datag)

ackg.stop.S+timeout.S’ | timeout. T+stop.T |
C [ackg.receive.R
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» B

- ackg.stop.S+timeout.S’ | timeout. T+stop. T |
datag.(dataz.C+71.C) + ackg.(acks.C+1.C) |
ackg.receive.R

T@ckg) —— e
- ackg.stop.S+timeout.S’ | timeout. T+stop. T |
ackg.C+1.C | receive.R
T(receive) ,
— ackg.stop.S+timeout.S’ | fimeout. T+stop.T |
acks.C+1.C|R
ZDODEBAMNHS (XC)
T(ackg)

— stop.S+timeout.S’ | timeout. T+stop. T | C | R

TS1P) s|T|C|R
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» BB

(3%B)— ackg.stop.S+timeout.S’ | timeout. T+stop. T |
datag.C+1.C | datag.ackg.receive.R

T
— ackg.stop.S+timeout.S’ | fimeout. T+stop.T |
C | datag.ackg.receive.R

T(timeoutg -
- | T| C | datag.ackg.receive.R

datag.start.(ackg.stop.S+timeout.S’) |
start.(fimeout. T+stop.T) |
datag.(@atagz.C+1.C) + ackg{acks.C+1.C) |
datag.ackg.receive.R (XAERIL)
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p BB

(%XC) — ackg.stop.S+timeout.S’ | timeout. T+stop. T |
ackg.C+1.C |R
“ONEMANHD

T(ackg) — -
iy stop.S+timeout.S’ | timeout. T+stop.T| C | R
eed) S |TICIR

Fi=1&

_—T> ackg.stop.S+timeout.S’ | timeout.T+stop.T | C | R
T(tmeout) s | T | C | R
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;Alternating Bit Protocol

_ sencdig transg
il Sender Trans Receiver o
o | Ack |
Sender,Receiver0,1DIKEFXLL  HFMCELDIREDETEZ
(TEAEREERESED

#EAKEE Sender=0, Receiver=1

BRDBEBTIEEDEEOEEANH > THEBEEDHLEENTIEE
(Accept(0)|Trans|Ack|Replying(0))\A ~ Spec
Spec = accept.deliver.Spec
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; ABP®M &tk (Sender,Receiver)

Send(b) = sendy.Sending(b)
Sending(b) = t.Send(b) + acky.Accept(b)
+ackg.Sending(b)
Accept(b) = accept.Send(b)
Reply(b) = W.Replying(b)
Replying(b) = 7.Reply(b) + trans.Deliver(b)
+transy. Replying(b)
Deliver(b) = deliver.Reply(b)
zzcd=1,1=0
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; ABP® &k (Trans,Ack)

Trans = sendg.(Trans + transg.Trans)
+sendy.(Trans + transi.Trans)
Ack = replyg.(Ack + ackq.Ack)
+replyy.(Ack + acky.Ack)

(Accept(0)|Trans|Ack|Replying(0))\ A ~ Spec
where A = {send0,send1, trans0,

transl, ackO, ackl, replyO,replyl}
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